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A 2322
Hu: MBS 84
el MEHSZAS (Sl &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 16,448
T 16,447
01 MEI2BZE+06l= 109,650 33,280 76,370
DEOHAAZZAE 018 X &
85,000& 1298 «10& 109,650
| 76,755
Al 16,448
2 16,447
307 glz2+ol & 46,010 45,140 870
02 It M AHEE 26,320 26,320 0
N MEHs28 X 15,500, 000& 15,500
NLEFR s0t2 IIER2S3 2,510,000& 2,510
NAZS2HEHA OtetEUS 2,510,000& 2,510
NASA Zoiol MEH U3 2,000,000& 2,000
N2EIE Z0HQ HOIE= & 3,800,000 3,800
03 IAHMEE2HHIES 19,690 18,820 870
NLEIFZMAMSE 220 I
19,690, 000& 19,690
T HSIE LHAY 47,410 47,410 0
307 glz2tol & 47,410 47,410 0
02 HAFHAANGEEE 47,410 47,410 0
NIeIEMS EAY 24,700,000 24,700
NHEssxr 85 I 224
22,710,000 22,710
HEANL =5 5,752,788 9,846,981 4,094,193
J| 160,000
- 5,592,788
M= AlE2tel 5,752,788 9,846,981 A 4,094,193
J| 160,000
- 5,592,788
HEALE =24 2,827,101 2,745,907 81,194
J| 160,000
- 2,667,101
309 HES 2,818,501 2,681,432 137,069
J| 160,000
T 2,658,501
01 SAL- SHILNHTES 2,818,501 2,681,432 137,069
NASLYATIXME 2 2,260,261,000& 2,260,261
J| 160,000
T 2,100,261
Nes==Z2Y 29Y9 372,749,000& 372,749
NEERU2sET 29 70,096,000 70,096
Nes2el3d AHEUEHE 29
115,395,000& 115,395




SN RHBBHSD

g MSAME &5
el MSAE2e (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
404 SASHTEZHES 8,600 64,475 A 55,875
01 SAt- B2 E= 8,600 64,475 A 55,875
NeEs3Z28 MAFHSH(BES =HER)
6,600,000 6,600
NEEFU2SE NMFSHI(NSHAMSII)
2,000,000& 2,000
Sete IREA0/THYH 2H 103,607 172,594 A 68,987
201 Let249] 1,000 45,000 A 44,000
01 At 22l 1,000 33,000 A 32,000
NA24a &I 2 500,000& 500
et E M=, E2Hl S 500,000& 500
203 YR =&t 1,000 1,000 0
03 Al =AY R 1,000 1,000 0
NEcolLHe g2FT 1,000, 000& 1,000
307 gl2tol & 101,607 110,394 AB,787
05 RIZHRI & 3 101,607 110,394 NB,787
120l dH 2ZHI 51,607,000& 51,607
NAZ=22t01Y tHal JHA 50,000,000& 50,000
sUl MEAE SR 74,480 68,480 6,000
201 Let24d] 2,320 2,320 0
01 At 22/l 2,320 2,320 0
NHEEH AREZI ¢
290,000& x2& *43| 2,320
203 ¥R =&l 2,160 2,160 0
03 AIBZ=AH I =AY 2,160 2,160 0
Nsd MEANE R g2FX
2,160,000 2,160
401 AIEHI L 2CHEI 70,000 64,000 6,000
01 A& HI 70,000 60,000 10,000
nNedl MEAd 811 ¢ 22 70,000,000& 70,000
2= SEMSsHH A8 2,111,000 6,710,000 24,599,000
203 ¥ S =&l 1,000 1,000 0
03 AIMF=XH R =AH| 1,000 1,000 0
NMSHE e g2FA 1,000,000& 1,000
401 A& HIZ 201 Y] 2,110,000 789,000 1,321,000
01 A& HI 2,100,000 779,000 1,321,000
NDHSHE A8 AL (2SN 200 S)
2,100,000, 000& 2,100,000
03 A& S THHI 10,000 10,000 0
NHSHE A8 AIE2U4 10,000, 000& 10,000




2N
X ZH -
L= B

el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
s2eSE W SEFNE =4 464,300 150,000 314,300
401 Al HI K 201 I 464,300 150,000 314,300
01 A& Bl 464,300 150,000 314,300
NAAEH 29y 464,300,000 464,300
ESNRENM OGSEMSHEH HE 172,300 0 172,300
203 R =&l 300 0 300
03 AIMF=XH R =AY 300 0 300
NgF&H 300,000 300
405 TtHakF S| 172,000 0 172,000
01 AL EFH S 172,000 0 172,000
NHMSAIE SIEOHLY] 172,000, 000& 172,000
HH2F A 13,730 13,810 A 80
Jl2dt(2st2 2 =) 13,730 13,810 A80
Jl2ddl (222 =) 13,730 13,810 A 80
201 Let24E] 9,530 9,610 A 80
01 At 22l 9,530 9,610 A 80
NAgS8E 120& *2,00004 =33l 720
NEISE 30& *5,00001 x33] 450
N=E8ll EY 100, 000& *2CH x4 3] 800
N=Egl =2 350,000 *4 4 1,400
NEMESI] R AE 2| 100,000 =20 23] 400
NE&Il A2 100, 000& »2CH »23 400
NASESHI 10,000& 24 9% 43| 960
NeM22AT 40,0003 =104+ Xt 400
2320 IMEE Eotitg M
3,000,000& 3,000
NHIL2AM =X M= 1,000,000 « 11t = 1,000
203 YR =2t 4,200 4,200 0
04 EA2IYRFEH| 4,200 4,200 0
1)25¢! 0| ot 350,000& 122 4,200




